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7D46д4=8=4. �=Eт8тут п4Dл4<е=тEко7о упол=о<оGе==о7о по 
пD464< Gело6ек4 о<5удE<е=) 

 

Л45оD4тоD=Kе D45отK   

"D4кт8GеEк8е 74=Oт8O  

Ко=тDолL=Kе D45отK  

!4<оEтоOтелL=4O D45от4 о5уG4NI8EEO: под7ото6к4 к теEт8Dо64=8N по 
7е<е : «�D464 8 E6о5одK Gело6ек4 8 7D46д4=8=4» 

1 

&е<4 5.1. Ко=Eт8ту- 

F8о==Kе оE=о6K Dе-

деD4т86=о7о уEтDо9Eт64 
 оEE88. 

!одеD64=8е уGе5=о7о <4теD84л4 1 

1 �о=Oт8е 8 пD8=F8пK =4F8о=4лL=о- 7оEуд4DEт6е==о7о 
уEтDо9Eт64  Ф. Ко=Eт8туF8о==о-пD46о6о9 Eт4туE  Ф. �Dед<етK 
6еде=8O  Ф 8 8E кл4EE8D8к4F88. �D8=F8пK, пе64I8е 6 оE=о6е 
D477D4=8Gе=8O пDед<ето6 6еде=8O <е6ду  Ф 8 ее Eу5Jект4<8. 

 2 

Л45оD4тоD=Kе D45отK  : ' л 

�D4кт8GеEк8е 74=Oт8O  

Ко=тDолL=Kе D45отK: теEт8Dо64=8е  

!4<оEтоOтелL=4O D45от4 о5уG4NI8EEO: под7ото6к4 пDе7е=т4F88 по те<е. 1 

&е<4 5.2. Ко=Eт8ту-

F8о==Kе оE=о6K E8Eте<K 
оD74=о6 7оEуд4DEт6е==о9 
6л4Eт8 6  Ф. 

!одеD64=8е уGе5=о7о <4теD84л4 1 

1 �о=Oт8O 8 оE=о6=Kе пD87=4к8 оD74=4 7оEуд4DEт6е==о9 6л4Eт8. 
!8Eте<4 8 68дK оD74=о6 7оEуд4DEт6е==о9 6л4Eт8 6  Ф. 
ФедеD4лL=Kе оD74=K 7оEуд4DEт6е==о9 6л4Eт8. ОD74=K 
7оEуд4DEт6е==о9 6л4Eт8 Eу5Jекто6  Ф. Ко=Eт8туF8о==о-

пD46о6ое Dе7ул8Dо64=8е 8E оD74=874F88 8 деO- 

 2 
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  7елL=оEт8. 

�оEуд4DEт6е==Kе оD74=K, =е O6лONI8еEO оD74=4<8 7оE-

уд4DEт6е==о9 6л4Eт8: по=Oт8е 8 68дK. Ко=Eт8туF8о==о-

пD46о6ое Dе7ул8Dо64=8е 8E Eт4туE4. 

  

Л45оD4тоD=Kе D45отK   

пD4кт8GеEк8е 74=Oт8O 1 

!о=тDолL=Kе D45отK  

!4<оEтоOтелL=4O D45от4 о5уG4NI8EEO 1 

&е<4 5.3. ко=Eт8туF8о==о 
пD46о6о9 Eт4туE Eу5Jекто6 
 Ф. 

!одеD64=8е уGе5=о7о <4теD84л4 1 

1 �4кDепле=8е ко=Eт8туF8о==о-пD46о6о7о Eт4туE4 Eу5Jекто6  Ф. 
�8дK Eу5Jекто6  Ф. �E оEо5е==оEт8. 

�оDOдок 87<е=е=8O Eт4туE4 Eу5Jект4  Ф. �оDOдок 87<е=е=8O 
7D4=8F, =48<е=о64=8е Eу5Jект4  Ф. 

 2 

Л45оD4тоD=Kе D45отK   

�D4кт8GеEк8е 74=Oт8O 1 

Ко=тDолL=Kе D45отK:   

!4<оEтоOтелL=4O D45от4 о5уG4NI8EEO: EоEт46ле=8е E8Eте<4т878DуNIе9 
т45л8FK по 68д4< Eу5Jекто6  Ф 8 8E ко=Eт8туF8о==о-пD46о6о<у Eт4туEу. 

1 

&е<4 6.1. �758D4телL=ое 
пD46о 8 8758D4телL=Kе 
E8Eте<K 6  Ф. 

!одеD64=8е уGе5=о7о <4теD84л4 1 

1 �K5оDK 6  Ф: 68дK 8 пD46о6ое Dе7ул8Dо64=8е. �о=Oт8е 
8758D4телL=о7о пD464 8 8758D4телL=о9 E8Eте<K. М46о-

D8т4D=Kе, пDопоDF8о=4лL=Kе 8 E<еH4==Kе 8758D4телL=Kе 
E8Eте<K. �D8=F8пK 8758D4телL=о7о пD464. 

 2 

Л45оD4тоD=Kе D45отK   

�D4кт8GеEк8е 74=Oт8O 1  

Ко=тDолL=Kе D45отK:  

!4<оEтоOтелL=4O D45от4 о5уG4NIе7оEO: 1 

&е<4 6.2. �758D4телL=K9 
пDоFеEE 6  Ф. 

!одеD64=8е уGе5=о7о <4теD84л4 1 

1 �оDOдок оD74=874F88 8 пDо6еде=8O 6K5оDо6. �о=Oт8е, 
уG4Eт=8к8 8 Eт4д88 8758D4телL=о7о пDоFеEE4. 

 

Л45оD4тоD=Kе D45отK   
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�D4кт8GеEк8е 74=Oт8O 1  

 <о=тDолL=Kе D45от4   

 !4<оEтоOтелL=4O D45от4 о5уG4NIе7оEO: под7ото6к4 пDе7е=т4F89 по 
7е<4<: «поDOдок под7ото6к8 пDо6еде=8O 6K5оDо6 6 Eу5Jект4E  Ф. � 
тоDOдок под7ото6к8 пDо6еде=8O 6K5оDо6 6 оD74=K <еEт=о7о 
E4<оупD46ле=8O. 

1  

&е<47.1. ОE=о6K ко=- !одеD64=8е уGе5=о7о <4теD84л4 1  

Eт8туF8о==о7о Eт4туE4 
�Dе78де=т4  Ф, е7о 
поло6е=8е 6 E8Eте<е 
7оEуд4DEт6е==о9 6л4Eт8. 
�оDOдок 6K5оDо6 6 
поEтупле=88 6 дол6=оEтL 
пDе78де=т4  Ф. ОE=о64=8O 
пDекD4Iе=8O пол=о<оG89 
�Dе78де=т4  Ф. 

1 

�о7=8к=о6е=8е 8 D4768т8е 8=Eт8тут4 пDе78де=тEт64 6  оEE88. 
ОE=о6K ко=Eт8туF8о==о7о Eт4туE4 �Dе78де=т4  оEE89Eко9 
ФедеD4F88, е7о поло6е=8е 6 E8Eте<е оD74=о6 7оEуд4DEт6е==о9 
6л4Eт8. �Dе78де=т  Ф- 7л464 7оEуд4DEт64; е7о ко=Eт8туF8о==4O 
DолL 6 о5еEпеGе=88 Eо7л4Eо64==о7о Dу=кF8о=8Dо64=8O 8 
6748<оде9Eт68O оD74=о6 7оEуд4DEт6е==о9 6л4Eт8. 

�оDOдок 6K5оDо6 8 6Eтупле=8O 6 дол6=оEтL пDе78де=т4  Ф. 
!8<6олK пDе78де=тEко9 6л4Eт8. 

ОE=о64=8O пDекD4Iе=8O пол=о<оG89 пDе78де=т4  Ф. 
ОE=о64=8O доEDоG=о7о пDекD4Iе=8O пол=о<оG89 �Dе78де=т4 
 Ф. Ко=Eт8туF8о==о-пD46о64O от6етEт6е==оEтL пDе78де=т4  Ф. 

  

 Л45оD4тоD=Kе D45отK   

 �D4кт8GеEк8е 74=Oт8O 1  

 Ко=тDолL=Kе D45отK   

 !4<оEтоOтелL=4O D45от4 о5уG4NIе7оEO: DеHе=8е E8ту4F8о==о-

пD4кт8GеEк8E 74д4G. 
1 - 

&е<4 7.2 �ол=о<оG8O !одеD64=8е уGе5=о7о <4теD84л4 1  

�Dе78де=т4  оEE89Eко9 
ФедеD4F88. �ктK 
�Dе78де=т4  оEE89Eко9 
ФедеD4F88, 

1 �ол=о<оG8O �Dе78де=т4  оEE89Eко9 ФедеD4F88. АктK 

�Dе78де=т4  оEE89Eко9 ФедеD4F88, Ад<8=8EтD4F8O  оEE89Eко9 

ФедеD4F88, �ол=о<оG=Kе пDедEт468тел8  оEE89Eко9 

ФедеD4F88. �=Eт8тут пол=о<оG=KE пDедEт468
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�д<8=8EтD4F8O  оE-

E89Eко9 ФедеD4F88, 
�ол=о<оG=Kе пDед- 

Eт468тел8  оEE89Eко9 
ФедеD4F88 

 7еле9 �Dе78де=т4  Ф 6 DедеD4лL=KE окDу74E.  • ' - ■ • ■�� • ... 

■ - 

'�7 � ■ ■ ■■
 • О 

Л45оD4тоD=Kе D45отK  

�D4кт8GеEк8е 74=Oт8O 1 

ко=тDолL=Kе D45отK: теEт8Dо64=8е  

!4<оEтоOтелL=4O D45от4 о5уG4NIе7оEO: 1 

!одеD64=8е уGе5=о7о <4теD84л4  

&е<4 8.1. ФедеD4лL=ое 
!о5D4=8е- п4Dл4<е=т 
 оEE89Eко9 ФедеD4F88. 

1 ФедеD4лL=ое !о5D4=8е- п4Dл4<е=т  Ф. �оDOдок DоD<8Dо64=8O 
п4л4т ФедеD4лL=о7о Eо5D4=8O. !о6ет ФедеD4F88: EоEт46, 
поDOдок DоD<8Dо64=8O. �оEуд4DEт6е==4O Ду<4, ее EоEт46, 
поDOдок 6K5оDо6 депут4то6. 

1 

Л45оD4тоD=Kе D45отK  

�D4кт8GеEк8е 74=Oт8O  

Ко=тDолL=Kе D45отK  

!4<оEтоOтелL=4O D45от4 о5уG4NIе7оEO 1 

&е<4 8.2. �4ко=од4-

телL=K9 пDоFеEE 6 
 оEE89Eко9 ФедеD4F88. 

!одеD64=8е уGе5=о7о <4теD84л4 1 

1 �4ко=од4телL=K9 пDоFеEE. �8дK 74ко=о6. !т4д88 74ко=о-

д4телL=о7о пDоFеEE4. �о=Oт8е 74ко=од4телL=о9 8=8F84т86K, ее 
Eу5JектK. �оDOдок о5Eу6де=8O 74ко=опDоекто6 
�оEуд4DEт6е==о9 Ду<о9. 'G4Eт8е !о6ет4 ФедеD4F88 6 
74ко=од4телL=о< пDоFеEEе. �оDOдок D47DеHе=8O D47=о7л4E89 
п4л4т 6 74ко=од4телL=о< пDоFеEEе. 

�одп8E4=8е пD8=Oто7о DедеD4лL=о7о 74ко=4 �Dе78де=то<. �ето 
�Dе78де=т4, поDOдок е7о пDеодоле=8O. ОEо5е==оEт8 поDOдк4 
пD8=Oт8O DедеD4лL=KE ко=Eт8туF8о==KE 74ко=о6. 

Опу5л8ко64=8е 8 6Eтупле=8е 6 E8лу DедеD4лL=KE 74ко=о6. 

- 

Л45оD4тоD=Kе D45отK  

�D4кт8GеEк8е 74=Oт8O 1  



 

 !4<оEтоOтелL=4O D45от4 о5уG4NIе7оEO.: DеHе=8е E8ту4F8о==о-

пD4кт8GеEк8E 74д4G. 
1  

&е<4 9.1. �D468телLEт6о 
 оEE89Eко9 ФедеD4F88- 

6KEH89 8Eпол=8телL=K9 
оD74= 7оEуд4DEт6е==о9 

6л4Eт8. 

!одеD64=8е уGе5=о7о <4теD84л4 1 

1 �D468телLEт6о  Ф- 6KEH89 8Eпол=8телL=K9 оD74= 7оEу-

д4DEт6е==о9 6л4Eт8. МеEто пD468телLEт64  Ф 6 E8Eте<е оD74=о6 
7оEуд4DEт6е==о9 6л4Eт8, 6748<оот=оHе=8O E �Dе78де=то<  Ф 8 
ФедеD4лL=K< !о5D4=8е< 

�оDOдок DоD<8Dо64=8O , EоEт46 8 EDок пол=о<оG89 �D4-

68телLEт64  Ф. �E пол=о<оG8O. 

  

Л45оD4тоD=Kе D45отK  

�D4кт8GеEк8е 74=Oт8O 1 

Ко=тDолL=Kе D45отK   

!4<оEтоOтелL=4O D45от4 о5уG4NIе7оEO 1 

!одеD64=8е уGе5=о7о <4теD84л4 1 

&е<4 10.1 О5I4O E4-

D4ктеD8Eт8к4 8 Dу=кF88 
Eуде5=о9 6л4Eт8. 
ОEуIеEт6ле=8е 
пD46оEуд8O 

1 О5I4O E4D4ктеD8Eт8к4 8 Dу=кF88 Eуде5=о9 6л4Eт8. ОEу 

IеEт6ле=8е пD46оEуд8O- 8EклNG8телL=4O Dу=кF8O Eуде5=о9 
6л4Eт8. Ко=Eт8туF8о==Kе оE=о6K Eуде5=о9 E8Eте<K  Ф. !удK 6 
 Ф. 

Ко=Eт8туF8о==Kе пD8=F8пK пD46оEуд8O.

 

Л45оD4тоD=Kе D45отK  

�D4кт8GеEк8е 74=Oт8O 1 

Ко=тDолL=Kе D45отK  

!4<оEтоOтелL=4O D45от4 о5уG4NIе7оEO: DеHе=8е E8ту4F8о==о-

пD4кт8GеEк8E 74д4G. 
1 

&е<4 10.2. Ко=Eт8ту- !одеD64=8е уGе5=о7о <4теD84л4 1 

 

Ко=Eт8туF8о==K9 !уд  Ф- Eуде5=K9 оD74= ко=Eт8туF8о==о7о 

. �ол=о<оG8O 
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   Ф. 

!оEт46, поDOдок, DоD<8Dо64=8е 8 EDок пол=о<оG89 Eуде9 
Ко=Eт8туF8о==о7о !уд4  Ф. 

!тDуктуD4 8 оD74=874F8O деOтелL=оEт8 Ко=Eт8туF8о==о7о !уд4 
 Ф. 

 еHе=8O Ко=Eт8туF8о==о7о !уд4  Ф: 68дK, поDOдок, пD8=Oт8е, 
ND8д8GеEк4O E8л4. 

  

Л45оD4тоD=Kе D45отK  

D4кт8GеEк8е 74=Oт8O 1 

Ко=тDолL=Kе D45отK  

!4<оEтоOтелL=4O D45от4 о5уG4NIе7оEO 1 

&е<4 11.1. Ко=Eт8ту- 

F8о==о-пD46о6ое Dе-

7ул8Dо64=8е <еEт=о7о 
E4<оупD46ле=8O. 

!одеD64=8е уGе5=о7о <4теD84л4 1 

1 МеEт=ое E4<оупD46ле=8е- ко=Eт8туF8о==4O DоD<4 оEу-

IеEт6ле=8O =4Dодо6л4Eт8O. Ко=Eт8туF8о==о- пD46о6ое 
Dе7ул8Dо64=8е <еEт=о7о E4<оупD46ле=8O. О5I8е пD8=F8пK 
оD74=874F88 <еEт=о7о E4<оупD46ле=8O 8 е7о Dу=кF88. 
Му=8F8п4лL=Kе о5D47о64=8O: по=Oт8е 8 68дK. 

 

Л45оD4тоD=Kе D45отK  

�D4кт8GеEк8е 74=Oт8O 1 

Ко=тDолL=Kе D45отK  

!4<оEтоOтелL=4O D45от4 о5уG4NIе7оEO: D45от4 E текEто< уGе5=о7о 
поEо58O 8 =оD<4т86=K<8 4кт4<8 Му=8F8п4лL=о7о о5D47о64=8O 

«.D78=Eк89 7оDодEко9 окDу7» 

1 

&е<4 11.2. �Dед<етK 
6еде=8O 8 пол=о<оG8O 
<еEт=о7о E4<оупD46ле=8O. 
Эко=о- 

!одеD 64=8е уGе5=о7о <4теD84л4 1 - 

1 �Dед<етK 6еде=8O 8 пол=о<оG8O <еEт=о7о E4<оупD46ле=8O 

ОD74=K 8 дол6=оEт=Kе л8F4 <еEт=о7о E4<оупD46ле=8O Эко=о<8GеEк4O 
оE=о64 <еEт=о7о E4<оупD46ле=8O. 
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<8GеEк4O оE=о64 <еEт=о7о 
E4<оупD46ле=8O. 

 Ко=Eт8туF8о==Kе 74D4=т88 <еEт=о7о E4<оупD46ле=8O.   

Л45оD4тоD=Kе D45отK  

�D4кт8GеEк8е 74=Oт8O 1 

Ко=тDолL=Kе D45отK  

!4<оEтоOтелL=4O D45от4 о5уG4NIе7оEO: : D45от4 E текEто< уGе5=о7о 
поEо58O 8 =оD<4т86=K<8 4кт4<8 Му=8F8п4лL=о7о о5D47о64=8O 
«.D78=Eк89 7оDодEко9 окDу7» 

1 

М4кE8<4лL=4O уGе5=4O =47Dу7к4 

О5O74телL=4O 4уд8тоD=4O =47Dу7к4 

!4<оEтоOтелL=4O D45от4

99 

66 

 

ДлO E4D4ктеD8Eт8к8 уDо6=O оE6ое=8O уGе5=о7о <4теD84л4 8EполL7уNтEO EледуNI8е о5о7=4Gе=8O: 

1. - о7=4ко<8телL=K9 (у7=464=8е D4=ее 87уGе==KE о5Jекто6, E6о9Eт6); 

2. - DепDодукт86=K9 (6Kпол=е=8е деOтелL=оEт8 по о5D47Fу, 8=EтDукF88 8л8 под Dуко6одEт6о<) 

3. - пDодукт86=K9 (пл4=8Dо64=8е 8 E4<оEтоOтелL=ое 6Kпол=е=8е деOтелL=оEт8, DеHе=8е пDо5ле<=KE 74д4G)
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'%�"��/ $������&�� #$"�$�  / ��%&�#��!/ 

3.1 .&@51>20=8O : <8=8<0;P=><C <0B5@80;P=>-B5E=8G5A:><C >15A?5G5=8N 

$50;870F8O ?@>3@0<<K 48AF8?;8=K B@51C5B =0;8G8O CG51=>3> :018=5B0 

"1>@C4>20=85 CG51=>3> :018=5B0: %1>@=8:8 B5AB>2KE <0B5@80;>2 8 7040G, A1>@=8: 7040=89 4;O 
A0<>AB>OB5;L=>9 @01>BK ABC45=B>2. 

3.2.�=D>@<0F8>==>5 >15A?5G5=85 >1CG5=8O 

#5@5G5=P @5:><5=4C5<OE CG51=OE 8740=89, �=B5@=5B-@5AC@A>2, 4>?>;=8B5;P=>9 ;8-

B5@0BC@O 

"A=>2=K5 8AB>G=8:8: 

1. �><:>20, �. !. �>=AB8BCF8>==>5 ?@02> : CG51=8: 4;O %#" / �. !. �><:>20, �. �. 
�>;5A=8:>2,  . �. �8?G0=A:0O. — 5-5 874., ?5@. 8 4>?. —  . : �740B5;LAB2> .@09B, 2019. •— 

369 A. — (%5@8O : #@>D5AA8>=0;L=>5 >1@07>20=85). 

2. !C4=5=:>, �. �. �>=AB8BCF8>==>5 ?@02> : CG51=8: 4;O %#" / �. �. !C4=5=:>. — 6-5 
874., ?5@. 8 4>?. —  . : �740B5;LAB2> .@09B, 2020. — 500 A. — (%5@8O : #@>D5AA8>=0;L=>5 
>1@07>20=85). 

3. %B@5:>7>2, �. �. �>=AB8BCF8>==>5 ?@02> : CG51=8: 4;O %#" / �. �. %B@5:>7>2. — 7-5 
874., ?5@. 8 4>?. —  . : �740B5;LAB2> .@09B, 2020. — 256 A. — (%5@8O : #@>D5AA8>=0;L=>5 
>1@07>20=85).  

3. 
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�"!&$"�0 � "&�!�� $��'�0&�&"� "%�"�!�/ ��%&�#��!/ 

�>=B@>;P 8 >F5=:0 @57C;LB0B>2 >A2>5=8O 48AF8?;8=K >ACI5AB2;O5BAO ?@5?>4020B5;5< 2 
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